
PARTS LIST 
Item Bas.

Qty.
Designation

Remarks
       Measures Profile

Rough measures - Type No. Standard
      Drawing-No.

Sheets         Index
  Material

WB/TS/BS
Weight

kg
Mat. No.

P.List No.
PPT EKZ Sort-KZ

Business Unit: Materials Handling
ThyssenKrupp Fördertechnik

Rev.

0000     0
The indic.Length serve

0001 L 150x15 EN 10056 S355J2G3
1401011

   210.37    1 16224
   210.37

0002 L 150x15 EN 10056 S355J2G3
1401011

   210.37    1 26224
   210.37

0003 L 150x15 EN 10056 S355J2G3
1401011

   210.37    1 36224
   210.37

0004 L 150x15 EN 10056 S355J2G3
1401011

   210.37    1 46224
   210.37

0005 L 60x8 EN 10056 S355J2G3
1401011

    16.06    2 52265
    32.12

0006 L 60x8 EN 10056 S355J2G3
1401011

    15.39    8 62171
   123.12

0007 L 60x8 EN 10056 S235JRG2
1401011

    15.39    4 72171
    61.56

0008 L 60x8 EN 10056 S355J2G3
1401011

    15.39    2 82171
    30.78

0009 L 60x8 EN 10056 S355J2G3
1401011

    14.68    1 92071
    14.68

0010 L 60x8 EN 10056 S355J2G3
1401011

    14.68    1 102071
    14.68

0011 L 60x8 EN 10056 S355J2G3
1401011

    13.59    1 111916
    13.59

0012 L 60x8 EN 10056 S355J2G3
1401011

    13.59    1 121916
    13.59

0013 L 60x8 EN 10056 S355J2G3
1401011

    13.16    6 131856
    78.96

0014 L 60x8 EN 10056 S355J2G3
1401011

    13.16    6 141856
    78.96

4273395

 1

TOWER

   1752.70

22.10.02

Order-No. Codeword/Customer :

Page No : Drawing Rev.:

Material No.   

Quantity to be made  
Page

Prep by :

Rev.by :Basic Weight kg 

Designation

Drawing No.
TKF - Const. Gr.

Basic Qty = 1
Total Weight kg Revision No. 

Status :

:
:
:

012 Prod. No.:

Const.Group No.: Group-No.:
Count - No.:

Paint. Surf. m  : (see  Corrosion Part List)
Print:

2

ZIMMER

22.10.2002
ZIMMER

Dept.
Name
Phone No.

:
:
:

Phone No.
Dept.
Name
Phone No.

:
:
:
:

Constr. Dept.:
Name :



PARTS LIST 
Item Bas.

Qty.
Designation

Remarks
       Measures Profile

Rough measures - Type No. Standard
      Drawing-No.

Sheets         Index
  Material

WB/TS/BS
Weight

kg
Mat. No.

P.List No.
PPT EKZ Sort-KZ

Business Unit: Materials Handling
ThyssenKrupp Fördertechnik

Rev.

0015 L 80x8 EN 10056 S235JRG2
1401011

    16.91    2 151750
    33.82

0016 L 80x8 EN 10056 S355J2G3
1401011

    16.91    4 161750
    67.64

0017 L 80x8 EN 10056 S355J2G3
1401011

     8.74    6 17905
    52.44

0019 PLATE 15x117 EN 10029 S355J2G3
1101011

     6.49   16 19491
   103.84

0020 PLATE 15x116 EN 10029 S355J2G3
1101011

     5.95   16 20462
    95.20

0028 Bolt M 24x75 DIN6914  10.9-tZn  128 75

0028 Nut M 24 DIN6915  10-tZn  128

0028 Washer25 DIN6916 C45-tZn  256

0029 Bolt M 16x60 DIN6914  10.9-tZn   16 60

0029 Nut M 16 DIN6915  10-tZn   16

0029 Washer 17 DIN6916 C45-tZn   32

0030 Bolt M 16x50 DIN6914  10.9-tZn  128 50

0030 Nut M16 DIN6915  10-tZn  128

0030 Washer 17 DIN6916 C45-tZn  256

0031 Washer A18 DIN 7989 5.6 tzn   3201

4273395

 2

TOWER

   1752.70

22.10.02

Order-No. Codeword/Customer :

Page No : Drawing Rev.:

Material No.   

Quantity to be made  
Page

Prep by :

Rev.by :Basic Weight kg 

Designation

Drawing No.
TKF - Const. Gr.

Basic Qty = 1
Total Weight kg Revision No. 

Status :

:
:
:

012 Prod. No.:

Const.Group No.: Group-No.:
Count - No.:

Paint. Surf. m  : (see  Corrosion Part List)
Print:

2

ZIMMER

22.10.2002
ZIMMER

Dept.
Name
Phone No.

:
:
:

Phone No.
Dept.
Name
Phone No.

:
:
:
:

Constr. Dept.:
Name :



PARTS LIST 
Item Bas.

Qty.
Designation

Remarks
       Measures Profile

Rough measures - Type No. Standard
      Drawing-No.

Sheets         Index
  Material

WB/TS/BS
Weight

kg
Mat. No.

P.List No.
PPT EKZ Sort-KZ

Business Unit: Materials Handling
ThyssenKrupp Fördertechnik

Rev.

0051 L 80x40x6 EN 10056 S355J2G3
1401011

     2.43    8 18450
    19.44

0052 PLATE 15x117 EN 10029 S355J2G3
1101011

     6.40    2 3,1491
    12.80

0053 PLATE 12x117 EN 10029 S235JRG2
1101011

     6.40    3 1,2,3464
    19.20

0054 PLATE 12x117 EN 10029 S355J2G3
1101011

     6.40    2 2,3464
    12.80

0055 PLATE 12x116 EN 10029 S235JRG2
1101011

     6.40    3 1,2,4462
    19.20

0056 PLATE 12x116 EN 10029 S235JRG2
1101011

     6.40    2 1,4462
    12.80

4273395

 3

TOWER

   1752.70

22.10.02

Order-No. Codeword/Customer :

Page No : Drawing Rev.:

Material No.   

Quantity to be made  
Page

Prep by :

Rev.by :Basic Weight kg 

Designation

Drawing No.
TKF - Const. Gr.

Basic Qty = 1
Total Weight kg Revision No. 

Status :

:
:
:

012 Prod. No.:

Const.Group No.: Group-No.:
Count - No.:

Paint. Surf. m  : (see  Corrosion Part List)
Print:

2

ZIMMER

22.10.2002
ZIMMER

Dept.
Name
Phone No.

:
:
:

Phone No.
Dept.
Name
Phone No.

:
:
:
:

Constr. Dept.:
Name :


